EARAROBREBRT —5 XN—ZXBISH—F

202112848 (£) 6EHR1H

(Il 57) 1BOS2 YSR3IELE (BE) £ BRI
[AXE%] 1 &:10,600,000 @ 2 3#&:4,200,000 33#&:2,700,000 9  43#%:1,600,000H . 5 3%&:1,060,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
» . we FarEt : -10-5- AEFIE (FER)
118lisl EvTURY i3 ERe 2.((?).9 11-10-5-3 |35.2| 96.1 | 1 (3(2); Bl
RiW—5—yvF B:TUvYIsF—UL pEbuke
= s3 | TS 2:01.0 7-10-12-10 [ 34.8 | 95.1 | 11 | 454 |#MTFHL (GER)
2|5|10| TYFANT 54.0 /) o |BARIT
RIIET7RA7 B:Ea—FTaVYVT T BEE
N . N 3 | WERS 2:01.1 12-12-12-14| 34.8 | 94.1 | 12 | 434 | LT (RR)
3 7|\ YV FPUT=UY e 54.0 (3/4) 4 | R G1—yvr
RIRU—LYp—=— BFARARNU—F—UY BHT7—L
PN )= 3 | EnE 2:01.2 3-3-3-3 [35.6] 92.1 | 5 | 466 |MIFE FR)
4 3| VY=vE e 56.0 F93) -6) SFEANR_ILT (VTR (@)
R:STU—FA B:IVRLVR/wh IRERIS
=, t 3 | REEE 2:01.3 14-12-12-10 35.1| 92.0 | 13 | 440 |EDEE (BR)
517014 7 b=V IITLT 54.0 /2 4 |REBE
RROSAYF BIZRFAvIVIIL FUAYT7—L
— <~ 4 3 | BREEE 2:01.4 14-12-10-8 | 35.4 | 90.9 | 2 476 | BREE (FR)
6|7[15| PY=2YYN 5.0 a2 (o) | T
R:F4=FAVNT~ B:PIZVINEFR SRS
) 4 3 | BEREX 2:01.7 7-7-5-3 | 36.1] 86.2 | 8 474 EPTﬁEIHz (FE=H)
71817/ W7I7X=Ib 56.0 A 3/4) (+4) | DOEE
RN—EVYIv— B:HTIE—FR JII%’&%
© ~ t 3 | EEBC 2:01.7 2-2-2-2 | 36.2 86.3 | 4 | 460 |BAIE (GSH)
8|59 |0YIAYIAL 2 ae nF) 4y | ) mE@R—2L—vv7
R:7RIAVL—Y B:T—)URIFL— RIS
- _ 3 | SEEA 2:01.7 5557 [35.9] 8.2 | 6 | 450 |EKAE ()
9 6| TYT4=IRX # 54.0 F5) -6) W) G1L—vvr
—UR B:7VFa1I5R BHIT7—LA
. § . : 13- IREBRI (R5R)
N P S=cOP. # 3 Eem 2.?11).8 3-4-3-3 | 36.1| 85.3 | 10 (4_524; et
Riv IRy b B:ZhRovEO4+—03 RERS
~ ~)3p 43 | APE 2:02.2 7-8-8-8 |36.2| 81.3 | 3 534 | FEE (FER)
1 5 TUN—EVIv— 5.0 2172 (-2 | PEEE
RN—EVIv— §:5Tbvyadb— BRAEMT rYITUYINLU—
< [ EH ¥ : -8-10- BREE (FR)
%, PIESE:ER AN 3 3 it 2(.30/24.)3 7-8-10-10 | 36.1| 80.3 | 7 (.jg) :K%E
R:FRF BiAvIT=—h EHT7—L
S 4 | BEED 2:02.4  [12-12-15-15| 35.9 | 80.5 | 15 | 458 |;APL¥ (ER)
130311 DAY =MLY T # 55.0 L) 2 | R
K:Liam’s Map £:C C's Pal Wind Hill Farm
~,s < ISER#ER : -16-16- GEEE (FR)
1 gl @IV /BYYrAY it 4 BEHR 2(90%:;1 16-16-16-17| 35.7 | 80.8 | 18 (4_362) ot
RiNR—HANR B:0U/XFURK g
© 3 3 | BHR 2:02.5 1-1-1-1 [ 37.1| 79.1 | 14 | 444 |BEIE ER)
15112 | /SF U 5.0 (1/2) (+10) |'BIER
R:UAVF4—X B:ORXEN—b ARk
= N £ 3 | RHBE 2:02.5  |17-17-16-15/35.9 | 79.8 | 9 | 488 |KEEA ER)
16(7|13| /T 4= ! 5.0 oS (o) | ) YRSR—2nY8=—
RROSAVF B:y—JLy 7Y H bk e
== s 5 | FERH 2:03.0  [18-18-18-18| 35.5| 74.5 | 16 | 474 |XREB— )
171111 | AAE=ZO—F17 57.0 212 w2 | B EvILyRIF—A
RS IINT—R BVEL ERRIS
3 4 4 | AWEE 2:03.1 5-6-8-10 |37.0| 73.4 | 17 466 | KIRE )
18/8|16| @7 IDF 5.0 0 o | R
RiFVH—T B:ITIFSAF [Filsagae]
[ BN
A 47.8-35.5
NOYIA L |12.7-10.7-12.6-12.6-12.2-12.3-12.3-11.8-11.5-12.2
@ I1—JF—BEBIEfI
13—7F— 2,9(3,12) (6,16) (4,5,10,17)18(7,11) (14,15)-8-13=1
20—F— 2,9,3,12,6,16,17(4,5) (10,18) (7,11,14,15)-8-13=1
30—7— 2,9(3,12) (6,17,18) (16,5) (4,15) (7,10,14)11-(8,13) =1
43—F— (*2,9) 3,12,17,18)6(5,15) (4,16,10,14)7(11,13) 8=1
o ILRE
B 18 280M JA R 10-18 2,170 & 5-8 1,300 3EE 7-10-18 54,530
B B 18 170/ 7-18 2,280M /B E 10-18 6,540 3EE 18-10-7 181,610
10 7504 7-10 10,8204 o= 18-10 9,200M
7 930

ABCDOVTIRHTERERRODDZ, THERAILZETL



